BiFERERRSER

¥ S E B £ &
ke RRmaH H(ha) 1 (ha) Bt (ha) =2 sEn(rm  TELEH h=
2 il wm B 220 = 220 ® L= 5/m 37,000 S46
B & 7 18 3 2 = 660m 16,000 547
B E(2) 7 6 20 26 = 84lm 25,000 548~549
& 7 145 15 160 [=1,440m 12,000 547
= Bi(2) 77 79 = 79 [=1.435m 44,000 $52~554
£ T @ 7 39 74 470 [=1,570m 7,000 547 SIGERDEE
i * 7 33 1 34 [=1,581m 32,000 546~548
x ES 7 122 5 127 [=1.522m 24,000 547~548
0 - u = 56 56 L[=1,100m 13,000 547~548
= v = W 80 = 80 L=2.065m 18,000 549~550
G- ” 59 5 64 [=2.516m 35.000 $49~552
3 H Y 36 13 49 [=1.261m 30,000 $50~552
] = 7 92 16 107 [=1.017m 26,000 $50~552
CIE 7 92 15 107 [=2,091m 59,000 $51~553
£ x H V] 245 25 270 & L= 56m 93,000 $50~552
CEA@Bum ) ‘ 245 26| 270 L=152lm | 101,000 | S51~S53
T B & A u 174 12 186 [=2,162m 101,000 547~553
s il u 80 = 80 [=1,588m 27,000 552~554
H B A 7 47 - 47 ® L= 19m 43,000 554
- 7 50 = 50 [=1,403m 40,000 555~556
] 7 47 = 47 [=1.528m 76,000 555~558
= B ] 33 3 36 %® L= 63m 31,000 $58~559
7 b Y] 38 2 40 1=1,352m 31,000 $58~560
A - u 75 = 75 1=1,222m 55,000 $55~561
x R 7 28 10 38 L=1,250m 68,000 556~561
& 7 W 22 = 22 L= 720m 31,000 H6
s st 26X 2,462 304 2,766 1,075,000
] Il Al & H 44 4 48 [=1,399m 31,000 $49~551
i st LK 44 4 48 31,000
1 H X @ 26 18 44 B L= 2/m 34,000 $49~550
T 18 W] 62 24 86 L=1,072m 16,000 $50~552
T R I 1 u 24 62 86 [=2,025m 45,000 $51~553
i B 7 20 27 47 [=1,450m 28,000 $51~853
M R T u 25 20 45 [=1,493m 33,000 552~554
S 3t W 25 = 25 = 795m 30,000 S62~Hit
i i GHEX 182 151 333 186,000
£ I B 7 & @ 175 = 175 ® = 2/m 13,000 547
= & BE 77 I 3 - FUAR AT 87 = 87 & L= 2/m 35,000 $48~549
= & B 7 B @ 74 = 74 L= 540m 144,000 $55~558
A B 3R 336 = 336 192,000
5 F EBA - EE 15 15 60 [=2,851m 13,000 547 SI5E R DEE
t E3 M = A 20 51 71 L= 805m 23,000 $48~549
5 i 130 298 428 [=3,025m 189,000 S48~552
u 130 298 428 L= 500m 24,000 $50~553
= R 7 36 16 82 L= 700m 37,000 $50~553
= B i V] 36 46 82 [=1,044m 76,000 $51~554
x b u 14 3l 45 L=1,450m 84,000 $51~554
ES 18 u 7 18 25 L=1,142m 58,000 $53~555
S = u 1 16 47 L=1,/77m 89,000 554~556
= il u 6 24 30 = 9%6m 45,000 554~556
R B 7 2 26 28 [=1,009m 65,000 $55~S57
E F(2) ] 5 39 44 [=1,882m 135,000 $57~560
£ E 7 5 25 30 [=1.255m 77,000 $59~563
= F 7 = 25 25 [=1,014m 74,000 $59~562
I S u 16 20 36 L=1,977m 89,000 560~563
I st u 24 25 49 [=2,230m 104,000 $61~Hat
= B(3) u 21 N 21 [=1,089m 52,000 $62~Hat
s &t 17 468 1,063 1,531 1,234,000
+ = E L 25 21 46 [=2,403m 130,000 S50~554
+ B I3 Y 25 21 46 L= 936m 42,000 $52~554
i ES 7 19 5 24 = —-m 7,000 54 S
* [ Y] 62 3 65 L=1,902m 81,000 $55~558
i = Vi 62 3 65 L=1,749m 78,000 $55~558
X B B % u 43 5 48 [=1,132m 47,000 $58~561
* il u 14 1 5 = 743m 61,400 HII~H13 | EEEEREEmE)
£ = A 7 18 - 3 = 795m 40,750 H12~H14 i
I it SHEX 268 59 327 487,150
" i S5 < @ @ 30 5 32 [=1,115m 29,000 556~558
= B 7 48 4 52 [=1,198m 62,000 556~561
x £ 7 27 13 40 [=1.976m 58.000 S60~Hit
o 7 Y 28 15 43 [=2,118m 54,000 S61~H7t
h B ¥ W 21 = 21 [=1.345m 45,700 S63~H 2
0 i 5HX 154 34 188 248,700
T # 5 < & & 19 = 19 [=1,156m 137,000 H6~H9 SesEEE
o] [ Y 10 = 10 L= 522m 38,800 HI1
B E CT B 13 = 13 =1,048m 166,000 H 5~H12 SeECEE
TE R E2 V7 10 = 10 = 592m 68,000 H6~H 7 Vi
M A A’ Y 18 = 18 - 920m 327,000 H 5~H14 u
t 2 = 5 u 12 = D L= 220m 125,000 H14~H17 W
I &t GHE 53 = 53 686,000
& & wm B 2 = 2 [= 350m 25,200 H5 Se=rBE
¥ i ” 3 = 3 = 200m 4,300 H5 n
2 B 7 9 = 9 =1,951lm 76,000 H6~H7 7
B x 7 11 = 11 = 8%2m 115,000 H6~HS8 7
X F /I 10 - 10 = 308m 13,000 H7 Y
wmo= % Y 11 = 11 L= 538m 37,600 H7 u
Z = Vi 10 - 10 L= 76lm 94,600 H 8~H10 Vi
B & % u 10 E 10 L= 482m 42,000 HLO i
5 = 7 20 = 20 [=1,340m 180,000 HI1~H14 n
I Bt O 116 = 116 587,700
g X B 7 B 13 = 3 [= 443m 5,500 HIO
& W y 10 = 10 L= 440m 10,600 H10~H11 SeECEE
A st 28K 23 = 23 16,100
& &t 83K 4,106 1,615 5,721 4,743,650




